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TNPSC GROUP I MAIN – 2023 
 

TRIGONOMETRY AND GEOMETRY TEST  
gphpT – m 

SECTION – A 
 
Fwpg;G:  

i. xt;nthU tpdhtpw;Fk; 150 nrhw;fSf;F kpfhky; tpilaspf;fTk;.  
Answer not exceeding 150 words each 

ii. xt;nthU tpdhtpw;Fk; gj;J kjpg;ngz;fs;. 
Each question carries ten marks. 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F 
tpdhf;fSf;F kl;Lk; tpilaspf;fTk;  
Answer any four questions out of five questions. 

(4 × 10 = 40) 
 

1. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
 

a. Find the length of the side of a regular polygon of 9 sides inscribed in a circle of 
radius 8 units.                   (5 m) 
8 myF MuKila tl;lj;jpDs; mike;j 9 gf;fq;fisf; nfhz;l xOq;F 
gyNfhzj;jpd; gf;fj;jpd; ePsk; fhz;f 

 

b. Find the six trigonometric ratios of the angle  using the given diagram         (5 m) 

nfhLf;fg;gl;Ls;s glj;jpy; itg; nghWj;J 6 Kf;Nfhztpay; tpfpjq;fisf; 
fhz;f 

 
 

2. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

a. From the top of a rock 50 3 m high, the angle of depression of a car on the 

ground is observed to be 30. Find the distance of the car from the rock.         (5 m) 
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50 3kP cauKs;s xU ghiwapd; cr;rpapypUe;J 30 ,wf;ff;Nfhzj;jpy; 
jiuapYs;s kfpOe;J xd;W ghu;f;fg;gLfpwJ vdpy;> kfpOe;jpw;Fk; ghiwf;Fk; 
,ilNaAs;s njhiyitf; fhz;f. 

 

b. Find the length of the chord of a circle of radius 5 cm subtending an angle of 108 
at the Centre.                   (5 m) 

5 nr.kP MuKs;s tl;lj;jpd; ikaj;jpy; 108˚ Nfhz msitj; jhq;Fk; ehzpd; 
ePsj;ijf; fhz;f.  

 
3. Answer the following Questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 

a. Find the value 3 sin 
6
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3


 - 4 sin 
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6


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4


            (5 m) 
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
 kjpg;G fhz;f 

 
b. Find the value of x              (5 m) 

X d; kjpg;G fhz;f 
 

  
 
 

4. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
 
a. A girl of height 150 cm stands in front of a lamp post and casts a shadow of 

length 150 3  cm on the ground.  Find the angle of elevation of the top of the 

lamp – post.                 (5 m) 
cauk; 150 nr.kP cs;s xU rpWkp xU tpsf;Ff; fk;gj;jpd; Kd; epd;wthW 150

3nr.kP ePsKs;s epoiy Vw;gLj;Jfpwhs; vdpy; tpsf;Ff; fk;gj;jpd; cr;rpapy; 
Vw;wf; Nfhzj;ijf; fhz;f 

 

b. With the given data in the figure, find UWY. What do you infer about  XWV? 

nfhLf;fg;gl;Ls;s glj;jpy; UWY -I fhz;f. NkYk; XWV-apd; %yk; ePq;fs; 
mwptJ ahJ?                   (5 m) 
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5. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

a. If cot x = 
5

12
− , x lies in second quadrant, find the values of other five 

trigonometric functions.                 (5 m) 

cot x = 
5

12
− , x MdJ ,uz;lhk;; fhw;gFjpapy; cs;sJ vdpy;> kw;w Ie;J 

Kf;Nfhztpay; tpfpjq;fisAk; fhz;f. 
 

b. If the angles triangle are (3 ) ,(2 7) (4 11)x x and x− − , then find the value of x.   (5 m) 

Kf;Nfhzj;jpd; %d;W Nfhzq;fs; KiwNa (3 ) ,(2 7) ,(4 11)x x x− −  vdpy; x d; 
kjpg;G fhz;f 

 

gphpT – M 
SECTION – B 

 
Fwpg;G : 

i. xt;nthU tpdhtpw;Fk; 250 nrhw;fSf;F kpfhky; tpilaspf;fTk;. 
Answer not exceeding 250 words each. 

ii. xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs; 
Each question carries fifteen marks. 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F 
tpdhf;fSf;F kl;Lk; tpilaspf;fTk;. 
Answer any four questions out of five questions. 

 

(4 × 15 = 60) 
 

6. A statue 1.6 m tall stands on the top of a pedestal.  From a point on the ground, the 

angle of elevation of the top of the statue is 60 and from the same point the angle of 

elevation of the top of the pedestal is 40.  Find the height of the pedestal. (tan 40 = 

0.8391, 3 = 1.732)               (15 m) 
1.6kP cauKs;s rpiy xd;W gPlj;jpd; Nky; mike;Js;sJ jiuapYs;s xU 
Gs;spapypUe;J 60 Vw;wf;Nfhzj;jpy; rpiyapd; cr;rp mike;Js;sJ. NkYk; mNj 

Gs;spapypUe;J gPlj;jpd; cr;rpahdJ 40 Vw;wf;Nfhzj;jpy; cs;sJ vdpy;> gPlj;jpd; 

cauj;ijf; fhz;f (tan 40 = 0.8391, 3 = 1.732) 

 

7. If a 10 m long ladder is inclined at an angle of 30˚ to a wall, how far is the bottom of 
the ladder from the wall.            (15 m) 

10kP ePsKs;s Vzp Rtw;Wld; 30˚ Nfhz mstpy; rha;j;J itf;fg;gl;Ls;sJ vdpy;> 
Vzpapd; mbg;gf;fk; Rtw;wpype;J vt;tsT njhiytpy; cs;sJ vdf; fhz;f 

 

8. A vertical wall and a tower are on the ground. As seen from the top of the tower, 

the angles of depression of the top and bottom of the wall are 45˚ and 60˚ 
respectively. Find the height of the wall if the height of the tower is 90 m.       (15 m) 
xU nrq;Fj;jhd RtUk;> xU NfhGuk; xU Fwpg;gpl;l ,ilntspapy; cs;sd. 
NfhGuj;jpd; cr;rpapypue;J ghu;f;Fk; NghJ> Rtw;wpy; cr;rp kw;Wk; mb Mfpatw;wpd; 
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,wf;ff; Nfhzq;fs; KiwNa 45˚ kw;Wk; 60˚ MFk;. NfhGuj;jpd; cauk; 90kP vdpy;> 

Rtw;wpd; cauj;ijf; fhz;f ( 3 = 1.732)  

 

9. The angle of elevation of the top of a cell phone tower from the foot of a high 

apartment is 60˚ and the angle of depression of the foot of the tower from the top of 

the apartment is 30˚. If the height of the apartment is 50 m, find the height of the cell 
phone tower. According to radiations control norms. The minimum height of a cell 
phone tower should be 120m. State if the height of the above mentioned cell phone 
tower meets the radiation norms.              (15 m) 
caukhd mLf;Fkhbf; FbapUg;gpd; mbapypUe;J miyNgrp NfhGu cr;rpapd; Vw;wf; 
Nfhzk; 60˚ kw;Wk; FbapUg;gpd; cr;rpapypUe;J NfhGu mbapd; ,wf;ff; Nfhzk; 30˚ 
MFk;. mLf;Fkhb FbapUg;gpd; cauk; 50 kP vdpy; miyNgrpf; NfhGj;jpd; 
cauj;ijf; fhz;f. fjpu;tPr;Rf; fl;Lg;ghL tpjpapd;gb miyNgrpf; NfhGuj;jpd; 
Fiwe;jgl;r cauk; 120kP ,Uf;f Ntz;Lk;. Nkw;fz;l miyf;NfhGuk; ,e;jf; 
fl;Lghl;bw;F cl;gLfpwjh?  

 

10. The angles of depression of the top and the bottom of an 8m tall building from the 

top of a multi - storeyed building are 30˚ and 45˚ respectively. Find the height of the 
multi- storeyed Building and the distance between the two buildings.     (15 m) 
xUth; gy mLf;Ff; fl;blj;jpd; Nky; ,Ue;J vjpNu cs;s 8 kP cauKs;s xU 
fl;blj;jpd; Nky; kw;Wk; mb gFjpapid 30˚ kw;Wk; 45˚ ,wf;f Nfhzj;jpy; 
fhz;fpwhu;. vdpy;> gy mLf;F fl;blj;jpd; cauk; fhz;f. NkYk; ,U 
fl;blq;fSf;F ,ilNa cs;s J}uk; fhz;f.  

 
 
 

 


